

A NEW CLASS OF PARTIALLY DEGENERATE LAGUERRE-BASED HERMITE-GENOCCHI POLYNOMIALS

WASEEM A. KHAN*, M. GHAYASUDDIN, AND DIVESH SRIVASTAVA

ABSTRACT. In this paper, we introduce partially degenerate Laguerre-based Hermite-Genocchi and investigate their properties and identities. Furthermore, we introduce a generalized form of partially degenerate Laguerre-based Hermite-Genocchi and derive some interesting properties and identities. The results obtained are of general character and can be reduced to yield formulas and identities for relatively simple polynomials and numbers.

2010 MATHEMATICS SUBJECT CLASSIFICATION. 11B68, 05A10, 05A15, 33C45.

KEYWORDS AND PHRASES. Hermite polynomials, Laguerre polynomials, partially degenerate Genocchi polynomials, partially degenerate Laguerre-based Hermite-Genocchi polynomials.

1. INTRODUCTION

The generating function of the two variable Laguerre polynomials (2-VLP) $L_n(x, y)$ are defined by (see [2]):

$$\frac{1}{1-yt} \exp\left(\frac{-xt}{1-yt}\right) = \sum_{n=0}^{\infty} L_n(x, y)t^n; (|yt| < 1). \quad (1.1)$$

These polynomials $L_n(x, y)$ are also given by the following generating function (see [3]):

$$\exp(yt)C_0(xt) = \sum_{n=0}^{\infty} L_n(x, y)\frac{t^n}{n!}, \quad (1.2)$$

where $C_0(x)$ is the 0^{th} order Tricomi function.

The n^{th} order Tricomi function is defined as (see [5])

$$C_n(x) = \sum_{r=0}^{\infty} \frac{(-1)^r x^r}{r!(n+r)!}, \quad (1.3)$$

with the following generating function under condition for $t \neq 0$ and for all finite x .

$$\exp\left(t - \frac{x}{t}\right) = \sum_{n=0}^{\infty} C_n(x)t^n. \quad (1.4)$$

Corresponding author: Waseem A. Khan*.
Submission: 15.01.2020.

Also, the Tricomi functions $C_n(x)$ are characterized by the following relation with the Bessel function $J_n(x)$ (see [5]):

$$C_n(x) = x^{\frac{n}{2}} J_n(2\sqrt{x}). \quad (1.5)$$

From equations (1.2) and (1.3), we obtain

$$L_n(x, y) = n! \sum_{s=0}^n \frac{(-1)^s x^s y^{n-s}}{(s!)^2 (n-s)!} = y^n L_n(x, y). \quad (1.6)$$

Thus, we have

$$L_n(x, y) = \frac{(-1)^n x^n}{n!}; \quad L_n(0, y) = y^n; \quad L_n(x, 1) = L_n(x), \quad (1.7)$$

where $L_n(x)$ are the ordinary Laguerre polynomials.

The 2-variable Kampé de Fériet generalization of the Hermite polynomials [1] and [4] reads

$$H_n(x, y) = n! \sum_{r=0}^{\lfloor \frac{n}{2} \rfloor} \frac{y^r x^{n-2r}}{r!(n-2r)!}. \quad (1.8)$$

These polynomials are usually defined by the generating function

$$e^{xt+yt^2} = \sum_{n=0}^{\infty} H_n(x, y) \frac{t^n}{n!}, \quad (1.9)$$

and reduce to the ordinary Hermite polynomials $H_n(x)$ (see [1]) when $y = -1$ and x is replaced by $2x$.

In (2000), Dattoli et al. [4, p.241] introduced the 3-variable Laguerre-Hermite polynomials (3VLHP) ${}_L H_n(x, y, z)$ as follows:

$${}_L H_n(x, y, z) = n! \sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} \frac{z^k L_{n-2k}(x, y)}{k!(n-2k)!}. \quad (1.10)$$

The generating function of the 3-variable Laguerre-Hermite polynomials (3VLHP) ${}_L H_n(x, y, z)$ as follows

$$\frac{1}{1-zt} \exp\left(\frac{-xt}{1-zt} + \frac{-yt^2}{1-zt^2}\right) = \sum_{n=0}^{\infty} {}_L H_n(x, y, z) t^n, \quad (1.11)$$

or, equivalently,

$$\exp(yt + zt^2) C_0(xt) = \sum_{n=0}^{\infty} {}_L H_n(x, y, z) \frac{t^n}{n!}. \quad (1.12)$$

It is clear from the above equations that

$${}_L H_n(x, y, -\frac{1}{2}) = {}_L H_n(x, y)$$

and

$${}_L H_n(x, 1, -1) = {}_L H_n(x),$$

where ${}_L H_n(x, y)$ and ${}_L H_n(x)$ denote the 2-variable Laguerre-Hermite polynomials (2VLHP) and Laguerre-Hermite polynomials, respectively (see [5]).

Kim-Kim [7] introduced the Daehee polynomials defined by

$$\frac{\log(1+t)}{t}(1+t)^x = \sum_{n=0}^{\infty} D_n(x) \frac{t^n}{n!}, \text{ (see [9, 10]).} \quad (1.13)$$

When $x = 0$, $D_n(0) = D_n$ are called the Daehee numbers.

For each $k \in \mathbb{N}_0$, the power of alternating sum $T_k(n)$ defined by (see [13]):

$$T_k(n) = \sum_{j=0}^{\infty} (-1)^j j^k. \quad (1.14)$$

The exponential generating function for $T_k(n)$ is

$$\sum_{k=0}^{\infty} T_k(n) \frac{t^k}{k!} = \frac{1 - (-e^t)^{n+1}}{e^t + 1}. \quad (1.15)$$

In (2017), Khan et al. [13] introduced a new class of partially degenerate Hermite-based Genocchi polynomials as follows:

$$\frac{2 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{e^t + 1} e^{xt+yt^2} = \sum_{n=0}^{\infty} {}_H G_{n,\lambda}(x, y) \frac{t^n}{n!}. \quad (1.16)$$

When $x = y = 0$, ${}_H G_{n,\lambda}(0, 0) = G_{n,\lambda}$ are called the partially degenerate Genocchi numbers.

The idea of degenerate numbers and polynomials found existence with the study related to Bernoulli and Euler numbers and polynomials. Lately, many researchers have begun to study the degenerate versions of the classical and special polynomials (see [6, 8, 11, 12, 17, 18, 20, 22-25], for a systematic work). Influenced by their works, we introduce partially degenerate Laguerre-based Hermite-Genocchi polynomials and also a new generalization of partially degenerate Laguerre-based Hermite-Genocchi polynomials and then give some of their applications. We also derive some implicit summation formula and general symmetry identities.

2. PARTIALLY DEGENERATE LAGUERRE-BASED HERMITE-GENOCCHI POLYNOMIALS

In this section, we introduce partially degenerate Laguerre-based Hermite-Genocchi polynomials and its properties. We begin with the following definition as follows.

We assume that $\lambda, t \in \mathbb{C}$ with $|\lambda t| \leq 1$ and $\lambda t \neq -1$. Then we consider partially degenerate Laguerre-based Hermite-Genocchi polynomials as follows:

$$\frac{2 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{e^t + 1} e^{yt+zt^2} C_0(xt) = \sum_{n=0}^{\infty} {}_L H G_{n,\lambda}(x, y, z) \frac{t^n}{n!}. \quad (2.1)$$

In the case, when $x = y = z = 0$, ${}_LH G_{n,\lambda}(0, 0, 0) = {}_LH G_{n,\lambda}$ are called the partially degenerate Laguerre-based Hermite-Genocchi numbers.

Theorem 2.1. For $n \in \mathbb{N}_0$ and $|\lambda t| < 1$, we have

$${}_LH G_{n,\lambda}(x, y, z) = \sum_{m=0}^n \frac{m!}{m+1} (-\lambda)^m \binom{n}{m} {}_LH G_{n-m,\lambda}(x, y, z). \quad (2.2)$$

Proof. It follows from (2.1) that

$$\sum_{n=0}^{\infty} {}_LH G_{n,\lambda}(x, y, z) \frac{t^n}{n!} = \frac{2 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{e^t + 1} e^{yt+zt^2} C_0(xt). \quad (2.3)$$

Multiplying and dividing by t on the right hand side of (2.3), we have

$$\sum_{n=0}^{\infty} {}_LH G_{n,\lambda}(x, y, z) \frac{t^n}{n!} = \left[\frac{\log(1 + \lambda t)^{1/\lambda}}{t} \right] \left[\frac{2t}{e^t + 1} e^{yt+zt^2} C_0(xt) \right] \quad (2.4)$$

$$= \left(\sum_{m=0}^{\infty} \frac{(-1)^m}{m+1} (\lambda t)^m \right) \left(\sum_{n=0}^{\infty} {}_LH G_{n,\lambda}(x, y, z) \frac{t^n}{n!} \right). \quad (2.5)$$

$$\sum_{n=0}^{\infty} {}_LH G_{n,\lambda}(x, y, z) \frac{t^n}{n!} = \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \binom{n}{m} \frac{(-\lambda)^m}{m+1} m! {}_LH G_{n-m,\lambda}(x, y, z) \right) \frac{t^n}{n!}. \quad (2.6)$$

Comparing the coefficient of $\frac{t^n}{n!}$ in (2.6), we obtain at the desired result. \square

Theorem 2.2. For $n \in \mathbb{N}_0$ and $|\lambda t| < 1$, we have

$${}_LH G_{n,\lambda}(x, y, z) = \sum_{m=0}^n \binom{n}{m} \lambda^m D_m {}_LH G_{n-m,\lambda}(x, y, z). \quad (2.7)$$

Proof. Consider (2.1), we have

$$\begin{aligned} \sum_{n=0}^{\infty} {}_LH G_{n,\lambda}(x, y, z) \frac{t^n}{n!} &= \frac{1}{t} \frac{2t \log(1 + \lambda t)^{\frac{1}{\lambda}}}{e^t + 1} e^{yt+zt^2} C_0(xt) \\ &= \left[\frac{\log(1 + \lambda t)}{\lambda t} \right] \left[\frac{2t}{e^t + 1} e^{yt+zt^2} C_0(xt) \right] \\ &= \left(\sum_{m=0}^{\infty} D_m \frac{(\lambda t)^m}{m!} \right) \left(\sum_{n=0}^{\infty} {}_LH G_{n,\lambda}(x, y, z) \frac{t^n}{n!} \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \binom{n}{m} \lambda^m D_m {}_LH G_{n-m,\lambda}(x, y, z) \right) \frac{t^n}{n!}. \end{aligned} \quad (2.8)$$

Comparing the coefficients of t^n , we get (2.7). \square

Theorem 2.3. For $n \in \mathbb{N}_0$ and $|\lambda t| < 1$, we have

$${}_LH G_{n,\lambda}(x, y, z) = n \sum_{m=0}^{n-1} \binom{n-1}{m} \lambda^m {}_LH E_{n-m-1}(x, y, z) D_m, \quad (2.9)$$

where, ${}_LH E_{n,\lambda}(x, y, z)$ is Laguerre-based Hermite-Euler polynomials (see [2-4]).

Proof. From (2.1), we have

$$\begin{aligned}
 \sum_{n=0}^{\infty} {}_LHG_{n,\lambda}(x, y, z) \frac{t^n}{n!} &= t \left(\frac{\log(1 + \lambda t)}{\lambda t} \right) \left(\frac{2}{e^t + 1} e^{yt+zt^2} C_0(xt) \right) \\
 &= t \left(\sum_{m=0}^{\infty} D_m \frac{(\lambda t)^m}{m!} \right) \left(\sum_{n=0}^{\infty} {}_LHE_n(x, y, z) \frac{t^n}{n!} \right) \\
 &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \binom{n}{m} \lambda^m D_m {}_LHE_{n-m}(x, y, z) \right) \frac{t^{n+1}}{n!} \\
 &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^{n-1} n \binom{n-1}{m} \lambda^m D_m {}_LHE_{n-m-1}(x, y, z) \right) \frac{t^n}{n!}. \tag{2.10}
 \end{aligned}$$

Thus, by comparing the coefficients of t^n on both sides of the above equation, yields our required result. \square

Theorem 2.4. For $n \in \mathbb{N}_0$ and $|\lambda t| < 1$, we have

$${}_LHG_{n,\lambda}(x, y + 1, z) = \sum_{m=0}^n \binom{n}{m} {}_LHG_{n-m,\lambda}(x, y, z). \tag{2.11}$$

Proof. From (2.1), we see that

$$\begin{aligned}
 &\sum_{n=0}^{\infty} [{}_LHG_{n,\lambda}(x, y + 1, z) - {}_LHG_{n,\lambda}(x, y, z)] \frac{t^n}{n!} \\
 &= \frac{2 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{e^t + 1} e^{(y+1)t+zt^2} C_0(xt) - \frac{2 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{e^t + 1} e^{yt+zt^2} C_0(xt) \\
 &= \frac{2 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{1 + e^t} e^{yt+zt^2} (e^t - 1) C_0(xt) \\
 &= \sum_{n=0}^{\infty} {}_LHG_{n,\lambda}(x, y, z) \frac{t^n}{n!} \sum_{m=0}^{\infty} \frac{t^m}{m!} - \sum_{n=0}^{\infty} {}_LHG_{n,\lambda}(x, y, z) \frac{t^n}{n!} \\
 &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \binom{n}{m} {}_LHG_{n,\lambda}(x, y, z) - {}_LHG_{n,\lambda}(x, y, z) \right) \frac{t^n}{n!}. \tag{2.12}
 \end{aligned}$$

Comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the above equation, we get our desired result (2.11). \square

Theorem 2.5. For $n \in \mathbb{N}_0$ and $|\lambda t| < 1$, we have

$${}_LHG_{n,\lambda}(x, y, z) = \sum_{k=0}^n \sum_{m=0}^k \binom{n}{k} \binom{k}{m} D_m \lambda^m {}_LH_{k-m}(x, y, z) G_{n-m}. \tag{2.13}$$

Proof. Using equations (1.10), (1.13) and (2.1), we have

$$\begin{aligned}
 \sum_{n=0}^{\infty} {}_LHG_{n,\lambda}(x, y, z) \frac{t^n}{n!} &= \frac{2 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{e^t + 1} e^{yt+zt^2} C_0(xt) \\
 &= \left(\frac{2t}{e^t + 1} \right) \left(\frac{\log(1 + \lambda t)}{\lambda t} \right) e^{yt+zt^2} C_0(xt)
 \end{aligned}$$

$$\begin{aligned}
&= \left(\sum_{n=0}^{\infty} G_n \frac{t^n}{n!} \right) \left(\sum_{m=0}^{\infty} D_m \frac{(\lambda t)^m}{m!} \right) \left(\sum_{k=0}^{\infty} {}_L H_k(x, y, z) \frac{t^k}{k!} \right) \\
&= \left(\sum_{n=0}^{\infty} G_n \frac{t^n}{n!} \right) \left(\sum_{k=0}^{\infty} \sum_{m=0}^k \binom{k}{m} D_m \lambda^m {}_L H_{k-m}(x, y, z) \frac{t^k}{k!} \right) \\
&= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \sum_{m=0}^k \binom{n}{k} \binom{k}{m} D_m \lambda^m {}_L H_{k-m}(x, y, z) G_{n-m} \right) \frac{t^n}{n!}. \quad (2.14)
\end{aligned}$$

Comparing the coefficients of t^n , we get (2.13) \square

Theorem 2.6. For $n \in \mathbb{N}_0$, we have

$${}_L H G_{n,\lambda}(x, y, z) = d^{n-1} \sum_{a=0}^{d-1} {}_L H G_{n,\frac{\lambda}{d}} \left(\frac{a+y}{d}, z, x \right). \quad (2.15)$$

Proof. From (2.1), we have

$$\begin{aligned}
\sum_{n=0}^{\infty} {}_L H G_{n,\lambda}(x, y, z) \frac{t^n}{n!} &= \frac{2 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{e^t + 1} e^{yt+zt^2} C_0(xt) \\
&= \frac{2 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{e^{dt} + 1} e^{zt^2} C_0(xt) \sum_{a=0}^{d-1} e^{(a+y)t} \\
&= \sum_{n=0}^{\infty} \left(d^n \sum_{a=0}^{d-1} {}_L H G_{n,\frac{\lambda}{d}} \left(\frac{a+y}{d}, z, x \right) \right) \frac{t^n}{n!}. \quad (2.16)
\end{aligned}$$

Equating the coefficients of $\frac{t^n}{n!}$ in above equation, we get the required result. \square

Remark 2.1. On setting $x = 0$, Theorem 2.6 reduces to the known results of Khan et al. [13].

3. SUMMATION FORMULAE

In this section, we give some implicit summation formula of partially degenerate Laguerre-based Hermite-Genocchi polynomials by making use of summation technique methods.

Theorem 3.1. The following implicit summation formula for partially degenerate Laguerre-based Hermite-Genocchi polynomials holds true:

$${}_L H G_{k+l,\lambda}(x, s, z) = \sum_{n,p=0}^{k,l} \binom{k}{n} \binom{l}{p} (s-y)^{n+p} {}_L H G_{k+l-p-n,\lambda}(x, y, z). \quad (3.1)$$

Proof. We first replace t by $t + u$ and again writing the generating function (2.1), we get

$$\frac{2 \log(1 + \lambda(t+u))^{\frac{1}{\lambda}}}{e^{(t+u)} + 1} e^{z(t+u)^2} C_0(x(t+u)) = e^{-y(t+u)} \sum_{k,l=0}^{\infty} {}_L H G_{k+l,\lambda}(x, y, z) \frac{t^k u^l}{k! l!}.$$

Replacing y by s in the above equation and equating the resulting expression with the original equation, we get

$$e^{(s-y)(t+u)} \sum_{k,l=0}^{\infty} {}_LHG_{k+l,\lambda}(x, y, z) \frac{t^k u^l}{k! l!} = \sum_{k,l=0}^{\infty} {}_LHG_{k+l,\lambda}(x, s, z) \frac{t^k u^l}{k! l!}$$

$$\sum_{N=0}^{\infty} \frac{[(s-y)(t+u)]^N}{N!} \sum_{k,l=0}^{\infty} {}_LHG_{k+l,\lambda}(x, y, z) \frac{t^k u^l}{k! l!} = \sum_{k,l=0}^{\infty} {}_LHG_{k+l,\lambda}(x, s, z) \frac{t^k u^l}{k! l!}. \tag{3.2}$$

$$\sum_{n,p=0}^{\infty} \frac{(s-y)^{n+p} t^n u^p}{n! p!} \sum_{k,l=0}^{\infty} {}_LHG_{k+l,\lambda}(x, y, z) \frac{t^k u^l}{k! l!} = \sum_{k,l=0}^{\infty} {}_LHG_{k+l,\lambda}(x, s, z) \frac{t^k u^l}{k! l!}. \tag{3.3}$$

Now replacing k by $k - n$, l by $l - p$ in above equation, we get

$$\sum_{n,p=0}^{\infty} \sum_{k,l=0}^{n,p} \frac{(s-y)^{n+p}}{n! p!} {}_LHG_{k+l-n-p,\lambda}(x, y, z) \frac{t^k u^l}{(k-n)! (l-p)!}$$

$$= \sum_{k,l=0}^{\infty} {}_LHG_{k+l,\lambda}(x, s, z) \frac{t^k u^l}{k! l!}. \tag{3.4}$$

Finally, on equating the coefficients of the like powers of t^k and u^l in the above equation, we arrive at the desired result. □

Corollary 3.1. For $l = 0$, the following implicit summation formulae for partially degenerate Laguerre-based Hermite-Genocchi polynomials ${}_LHG_{n,\lambda}(x, y, z)$ holds true:

$${}_LHG_{k,\lambda}(x, s, z) = \sum_{j=0}^k \binom{k}{j} (s-y)^j {}_LHG_{k-n,\lambda}(x, y, z). \tag{3.5}$$

Theorem 3.2. The following implicit summation formula for partially degenerate Laguerre-based Hermite-Genocchi polynomials ${}_LHG_{n,\lambda}(x, y, z)$ holds true:

$${}_LHG_{n,\lambda}(x, y+u, z+v) = \sum_{m=0}^n \binom{n}{m} {}_LHG_{n-m,\lambda}(u, v) H_m(y, z). \tag{3.6}$$

Proof. Replacing y by $(y+u)$ and z by $(z+v)$ in (2.1), we have

$$\sum_{n=0}^{\infty} {}_LHG_{n,\lambda}(y+u, z+v, x) \frac{t^n}{n!} = \frac{2 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{e^t + 1} e^{(y+u)t + (z+v)t^2} C_0(xt)$$

$$= \left(\sum_{n=0}^{\infty} {}_LHG_{n,\lambda}(x, u, v) \frac{t^n}{n!} \right) \left(\sum_{m=0}^{\infty} H_m(y, z) \frac{t^m}{m!} \right). \tag{3.7}$$

Finally, replacing n by $n - m$ and after comparing the coefficients of $\frac{t^n}{n!}$, we get the desired result. □

Theorem 3.3. The following implicit summation formula for partially degenerate Laguerre-based Hermite-Genocchi polynomials holds true:

$${}_LHG_{n,\lambda}(x, y, z) = n! \sum_{k=0}^{\frac{n}{2}} {}_LG_{n-2k,\lambda}(x, z) \frac{y^k}{(n-2k)!k!}. \quad (3.8)$$

Proof. From (2.1), we get

$$\begin{aligned} \sum_{n=0}^{\infty} {}_LHG_{n,\lambda}(x, z, y) \frac{t^n}{n!} &= \frac{2 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{e^t + 1} e^{zt+yt^2} C_0(xt) \\ &= \sum_{n=0}^{\infty} {}_LG_{n,\lambda}(z, x) \frac{t^n}{n!} \sum_{k=0}^{\infty} y^k \frac{t^{2k}}{k!}. \end{aligned} \quad (3.9)$$

Now replacing n by $n - 2k$ in the above equation and comparing the coefficients of t^n , we get (3.8). \square

Theorem 3.4. The following implicit summation formulae for partially degenerate Laguerre-based Hermite-Genocchi polynomials ${}_LHG_{n,\lambda}(x, y, z)$ holds true:

$${}_LHG_{n,\lambda}(x, y, z) = \sum_{m=0}^n \binom{n}{m} {}_LG_{n-m,\lambda}(y-s) H_m(s, z). \quad (3.10)$$

Proof. From (2.1), we have

$$\begin{aligned} \sum_{n=0}^{\infty} {}_LHG_{n,\lambda}(x, y, z) \frac{t^n}{n!} &= \frac{2 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{1 + e^t} e^{(y-s)t} e^{st+zt^2} C_0(xt) \\ &= \sum_{n=0}^{\infty} {}_LG_{n,\lambda}(y-s, x) \frac{t^n}{n!} \sum_{m=0}^{\infty} H_m(s, z) \frac{t^m}{m!} \\ \sum_{n=0}^{\infty} {}_LHG_{n,\lambda}(x, y, z) \frac{t^n}{n!} &= \sum_{n=0}^{\infty} \sum_{m=0}^n \binom{n}{m} {}_LG_{n-m,\lambda}(y-s, x) H_m(s, z) \frac{t^n}{n!}. \end{aligned} \quad (3.11)$$

Finally, on comparing the coefficients of like powers of t , we get the desired result. \square

Theorem 3.5. The following implicit summation formulae for partially degenerate Laguerre-based Hermite-Genocchi polynomials ${}_LHG_{n,\lambda}(x, y, z)$ holds true:

$${}_LHG_{n,\lambda}(y+1, z, x) = \sum_{m=0}^n \binom{n}{m} {}_LHG_{n-m,\lambda}(y, z, x). \quad (3.12)$$

Proof. Replacing y by $y + 1$ in (2.1), we get

$$\begin{aligned} \sum_{n=0}^{\infty} {}_LHG_{n,\lambda}(y+1, z, x) \frac{t^n}{n!} &= \frac{2 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{1 + e^t} e^{(y+1)t+zt^2} C_0(xt) \\ &= \left(\frac{2 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{1 + e^t} e^{yt+zt^2} \right) C_0(xt) e^t \end{aligned}$$

$$= \sum_{n=0}^{\infty} {}_LH G_{n,\lambda}(x, y, z) \frac{t^n}{n!} \sum_{m=0}^{\infty} \frac{t^m}{m!}. \tag{3.13}$$

Replacing n by $n - m$ in the above equation and comparing the coefficients of t , we get the desired result. \square

Theorem 3.6 The following implicit summation formulae for partially degenerate Laguerre-based Hermite-Genocchi polynomials ${}_LH G_{n,\lambda}(x, y, z)$ holds true:

$${}_LH G_{n,\lambda}(y+1, z, x) + {}_LH G_{n,\lambda}(y, z, x) = 2n \sum_{m=0}^{n-1} \binom{n-1}{m} \frac{(-\lambda)^m m!}{m+1} {}_LH_{n-1-m}(x, y, z). \tag{3.14}$$

Proof. Using the generating function (2.1), we have

$$\begin{aligned} \sum_{n=0}^{\infty} [{}_LH G_{n,\lambda}(y+1, z, x) + {}_LH G_{n,\lambda}(y, z, x)] \frac{t^n}{n!} &= \frac{2 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{e^t + 1} e^{(y+1)t+zt^2} C_0(xt) \\ &+ \frac{2 \log(1 + \lambda t)^{\frac{1}{\lambda}}}{e^t + 1} e^{yt+zt^2} C_0(xt) \\ &= 2 \log(1 + \lambda t)^{\frac{1}{\lambda}} e^{yt+zt^2} C_0(xt) \\ \sum_{n=0}^{\infty} [{}_LH G_{n,\lambda}(y+1, z, x) + {}_LH G_{n,\lambda}(y, z, x)] \frac{t^n}{n!} &= 2t \left(\frac{\log(1 + \lambda t)}{\lambda t} \right) e^{yt+zt^2} C_0(xt) \\ &= 2t \left(\sum_{m=0}^{\infty} \frac{(-1)^m (\lambda t)^m}{m+1} \right) \left(\sum_{n=0}^{\infty} {}_LH_n(y, z, x) \frac{t^n}{n!} \right) \\ \sum_{n=0}^{\infty} [{}_LH G_{n,\lambda}(y+1, z, x) + {}_LH G_{n,\lambda}(y, z, x)] \frac{t^n}{n!} &= 2 \sum_{n=0}^{\infty} \sum_{m=0}^n \binom{n}{m} \frac{(-\lambda)^m m!}{m+1} \\ &\times {}_LH_{n-m}(x, y, z) \frac{t^{n+1}}{n!}. \tag{3.15} \end{aligned}$$

Comparing the coefficients of $\frac{t^n}{n!}$ in above equation, we get the required result. \square

4. SYMMETRY IDENTITIES

Symmetry identities involving various polynomials have been discussed (e.g., [14-16, 19, 21]). As in above-cited work, here, in view of the generating functions (1.16) and (2.1), we obtain symmetry identities for the partially degenerate Laguerre-based Hermite-Genocchi polynomials ${}_LH G_{n,\lambda}(x, y, z)$.

Theorem 4.1. For each pair of integers a and b with $n \geq 0$, the following symmetry identity holds true:

$$\sum_{m=0}^n \binom{n}{m} b^m a^{n-m} {}_LH G_{n-k,\lambda}(by, b^2z, bx) {}_LH G_{m,\lambda}(ay, a^2z, ax)$$

$$= \sum_{m=0}^n \binom{n}{m} a^m b^{n-m} {}_LH G_{n-k,\lambda}(ay, a^2z, ax) {}_LH G_{m,\lambda}(by, b^2z, bx). \quad (4.1)$$

Proof. We first consider

$$f(t) = \frac{(2 \log(1 + \lambda at))^{\frac{a}{\lambda}} (2 \log(1 + \lambda bt))^{\frac{b}{\lambda}}}{(e^{at} + 1)(e^{bt} + 1)} e^{abyt + a^2b^2zt^2} C_0(abxt), \quad (4.2)$$

where $f(t)$ is symmetric in a and b and can be expressed into series in two ways.

$$\begin{aligned} f(t) &= \sum_{n=0}^{\infty} {}_LH G_{n,\lambda}(by, b^2z, bx) \frac{(at)^n}{n!} \sum_{m=0}^{\infty} {}_LH G_{m,\lambda}(ay, a^2z, ax) \frac{(bt)^m}{m!} \\ f(t) &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \binom{n}{m} b^m a^{n-m} {}_LH G_{n-k,\lambda}(by, b^2z, bx) {}_LH G_{m,\lambda}(ay, a^2z, ax) \right) \frac{t^n}{n!}. \end{aligned} \quad (4.3)$$

On the other hand,

$$\begin{aligned} f(t) &= \sum_{n=0}^{\infty} {}_LH G_{n,\lambda}(ay, a^2z, ax) \frac{(bt)^n}{n!} \sum_{m=0}^{\infty} {}_LH G_{m,\lambda}(by, b^2z, bx) \frac{(at)^m}{m!} \\ f(t) &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \binom{n}{m} a^m b^{n-m} {}_LH G_{n-k,\lambda}(ay, a^2z, ax) {}_LH G_{m,\lambda}(by, b^2z, bx) \right) \frac{t^n}{n!}. \end{aligned} \quad (4.4)$$

Therefore by (4.3) and (4.4), we get (4.1). \square

Theorem 4.2. For each pair of integers a and b with $n \geq 1$, the following identity holds true:

$$\begin{aligned} & \sum_{k=0}^n \binom{n}{k} a^{n-k} b^k \sum_{i=0}^{a-1} \sum_{j=0}^{b-1} (-1)^{i+j} {}_LH G_{n-k,\lambda} \left(by + \frac{b}{a}i + j, b^2z, bx \right) {}_L G_{k,\lambda}(az, ax) \\ &= \sum_{k=0}^n \binom{n}{k} b^{n-k} a^k \sum_{i=0}^{b-1} \sum_{j=0}^{a-1} (-1)^{i+j} {}_LH G_{n-k,\lambda} \left(ay + \frac{a}{b}i + j, a^2z, ax \right) {}_L G_{k,\lambda}(bz, bx). \end{aligned} \quad (4.5)$$

Proof. Let us consider,

$$\begin{aligned} h(t) &= \frac{(2 \log(1 + \lambda t))^{\frac{a}{\lambda}} (2 \log(1 + \lambda t))^{\frac{b}{\lambda}} (e^{abt} + 1)^2}{(e^{at} + 1)^2 (e^{bt} + 1)^2} e^{ab(y+u)t + a^2b^2zt^2} [C_0(abxt)]^2. \\ &= \frac{2 \log(1 + \lambda t)^{\frac{a}{\lambda}}}{e^{at} + 1} e^{abyt + a^2b^2zt^2} C_0(abxt) \left(\frac{e^{abt} + 1}{e^{bt} + 1} \right) \\ &\quad \times \frac{2 \log(1 + \lambda t)^{\frac{b}{\lambda}}}{e^{bt} + 1} e^{abut} C_0(abxt) \left(\frac{e^{abt} + 1}{e^{at} + 1} \right) \\ &= \frac{2 \log(1 + \lambda t)^{\frac{a}{\lambda}}}{e^{at} + 1} e^{abyt + a^2b^2zt^2} C_0(abxt) \left(\sum_{i=0}^{a-1} (-1)^i e^{bti} \right) \end{aligned} \quad (4.6)$$

$$\begin{aligned}
 & \times \frac{2 \log(1 + \lambda t)^{\frac{b}{\lambda}}}{e^{bt} + 1} e^{abut} C_0(abxt) \left(\sum_{j=0}^{b-1} (-1)^j e^{atj} \right) \\
 & = \left(\sum_{n=0}^{\infty} \sum_{i=0}^{a-1} \sum_{j=0}^{b-1} (-1)^{i+j} {}_LH G_{n,\lambda} \left(by + \frac{b}{a}i + j, b^2z, bx \right) \frac{(at)^n}{n!} \right) \\
 & \quad \times \sum_{k=0}^{\infty} {}_LG_{k,\lambda}(au, ax) \frac{(bt)^k}{(k)!} \\
 h(t) & = \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} a^{n-k} b^k \sum_{i=0}^{a-1} \sum_{j=0}^{b-1} (-1)^{i+j} \right. \\
 & \quad \times {}_LH G_{n-k,\lambda} \left(by + \frac{b}{a}i + j, b^2z, bx \right) {}_LG_{k,\lambda}(au, ax) \left. \right) \frac{t^n}{n!}. \tag{4.7}
 \end{aligned}$$

On the other hand,

$$\begin{aligned}
 h(t) & = \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} b^{n-k} a^k \sum_{i=0}^{b-1} \sum_{j=0}^{a-1} (-1)^{i+j} \right. \\
 & \quad \times {}_LH G_{n-k,\lambda} \left(ay + \frac{a}{b}i + j, a^2z, ax \right) {}_LG_{k,\lambda}(bu, bx) \left. \right) \frac{t^n}{n!}. \tag{4.8}
 \end{aligned}$$

Comparing the coefficients of $\frac{t^n}{n!}$ in (4.7) and (4.8), we arrive at the desired result. \square

Theorem 4.3. For each pair of integers a and b and all integers $n \geq 0$, the following symmetry identity holds true:

$$\begin{aligned}
 & \sum_{k=0}^n \binom{n}{k} a^{n-k} b^k {}_LH G_{n-k,\lambda}(by, b^2u, bx) \sum_{i=0}^k \binom{k}{i} T_i(a-1) G_{k-i,\lambda}(az) \\
 & = \sum_{k=0}^n \binom{n}{k} a^k b^{n-k} {}_LH G_{n-k,\lambda}(ay, a^2u, ax) \sum_{i=0}^k \binom{k}{i} T_i(b-1) G_{k-i,\lambda}(bz), \tag{4.9}
 \end{aligned}$$

where the sum of alternative integer powers $T_k(n)$ is already given by (1.15).

Proof. Suppose

$$p(t) = \frac{(2 \log(1 + \lambda t)^{\frac{a}{\lambda}})(2 \log(1 + \lambda t)^{\frac{b}{\lambda}})(1 - (-e^{bt})^a) e^{ab(y+z)t + a^2b^2ut^2} C_0(abxt)}{(e^{at} + 1)(e^{bt} + 1)^2} \tag{4.10}$$

$$p(t) = \left(\sum_{n=0}^{\infty} {}_LH G_{n,\lambda}(by, b^2u, bx) \frac{(at)^n}{n!} \right) \left(\sum_{i=0}^{\infty} T_i(a-1) \frac{(bt)^i}{i!} \right) \left(\sum_{k=0}^{\infty} G_{k,\lambda}(az) \frac{(bt)^k}{k!} \right). \tag{4.11}$$

Using a similar method in (4.10), we get

$$g = \left(\sum_{n=0}^{\infty} {}_LH G_{n,\lambda}(ay, a^2u, ax) \frac{(at)^n}{n!} \right) \left(\sum_{i=0}^{\infty} T_i(b-1) \frac{(at)^i}{i!} \right) \left(\sum_{k=0}^{\infty} G_{k,\lambda}(bz) \frac{(at)^k}{k!} \right). \tag{4.12}$$

After an appropriate change of summation index and comparison of the coefficients of $\frac{t^n}{n!}$ in (4.11) and (4.12), we get our required result. \square

Acknowledgement. The first author Waseem A. Khan would like to thank Prince Mohammad Bin Fahd University for providing facilities and support.

REFERENCES

- [1] E. T. Bell, Exponential polynomials, *Ann. of Math.*, **35**(1934), 258-277.
- [2] G. Dattoli and A. Torre, Operational methods and two variable Laguerre polynomials, *Atti. Accad. Sci. Torino Cl. Sci. Fis. Math. Natur.*, **132**(1998), 3-9.
- [3] G. Dattoli, A. Torre and A. M. Mancho, The generalized Laguerre polynomials, the associated Bessel functions and applications to propagation problems, *Radit. Phys. Chem.*, **59**(2000), 229-237.
- [4] G. Dattoli, A. Torre, S. Lorenzutta and C. Cesarano, Generalized polynomials and operational identities, *Atti. Accad. Sci. Torino. Cl. Sci. Fis. Mat. Natur.*, **134**(2000), 231-249.
- [5] G. Dattoli, Hermite-based and Laguerre-Bessel functions: A by-product of the monomiality principle, *Adv. Sp. Func. App.*, (Melfi, 1999), 147-164, *Proc. Melfi Sch. Adv Top. Math. Phys.*, 1, Aracne, Rome, 2000.
- [6] L. C. Jang, H. I. Kwon, J. G. Lee and C. S. Ryoo, On the generalized partially degenerate Genocchi polynomials, *Global J. Pure and Appl. Math.*, **11**(6)(2015), 4789-4799.
- [7] D. S. Kim, T. Kim, Daehee numbers and polynomials, *App. Math. Sci.*, **7**(120)(2013), 5969-5976.
- [8] D. S. Kim, T. Kim, Some identities of degenerate special polynomials, *Open Math.*, **13**(2015), 380-389.
- [9] D. S. Kim, T. Kim, S. H. Lee and J. J. Seo, A note on the lambda-Daehee polynomials and numbers, *Int. J. Math. Anal.*, **7**(62)(2013), 3069-3080.
- [10] T. Kim, S. H. Lee, T. Mansour and J. J. Seo, A note on q -Daehee polynomials and numbers, *Adv. Stud. Contemp. Math.*, **24**(2)(2014), 155-160.
- [11] T. Kim, J. J. Seo, A note on partially degenerate Bernoulli numbers and polynomials, *J. Math. Anal.*, **6**(2015), 1-6.
- [12] H. K. Kim, W. A. Khan, Some identities of a new type of degenerate poly-Frobenius-Euler polynomials and numbers, *Proceeding of the Jangjeon Mathematical Society*, **24**(1)(2021), 33-42.
- [13] W. A. Khan, S. Araci, M. Acikgoz and H. Haroon, A new class of partially degenerate Hermite-Genocchi polynomials, *J. Nonlinear Sci. Appl.*, **10**(2017), 5072-5081.
- [14] W. A. Khan, Some properties of the generalized Apostol type Hermite-based polynomials, *Kyungpook Math. J.*, **55**(2015), 597-614.
- [15] W. A. Khan, A note on degenerate Hermite-poly-Bernoulli numbers and polynomials, *J. Classical Anal.*, **8**(1)(2016), 65-76.
- [16] W. A. Khan, H. Haroon, Some symmetric identities for the generalized Bernoulli, Euler and Genocchi polynomials associated with Hermite polynomials. *Springer Plus* **2016** 5:1920.
- [17] W. A. Khan, M. Ahmad, Partially degenerate poly-Bernoulli polynomials, *Adv. Stud. Contemp. Math.*, **28**(3)(2018), 487-496.
- [18] W. A. Khan, A new class of degenerate Frobenius-Euler Hermite polynomials, *Adv. Stud. Contemp. Math.* **30**(4)(2018), 567-576.
- [19] W. A. Khan, I. A. Khan, M. Ali, Degenerate Hermite poly-Bernoulli numbers and polynomials with q parameter, *Stud. Univ. Babeş-Bolyai Math.* **65**(1)(2020), 3-15.
- [20] W. A. Khan, M. Acikgoz, U. Duran, Note on the type 2 degenerate multi-poly-Euler polynomials, *Symmetry*. **12** (2020), 1691.
- [21] M. A. Pathan and W. A. Khan, Some implicit summation formulas and symmetric identities for the generalized Hermite-Bernoulli polynomials, *Mediterr. J. Math.* **12**, (2015), 679-695.

- [22] S. K. Sharma, W. A. Khan, C. S. Ryou, A parametric kind of the degenerate Fubini numbers and polynomials, *Mathematics*. **8**(405)(2020); doi:10.3390/math8030405.
- [23] S. K. Sharma, W. A. Khan, S. Araci, S. S. Ahmed, New type of degenerate Daehee polynomials of the second kind, *Adv. Differ. Equ.*, **428**(2020), 2020:428, 14pp.
- [24] S. K. Sharma, W. A. Khan, S. Araci, S. S. Ahmed, Construction of the type 2 degenerate central Fubini polynomials and certain its properties, *Adv. Differ. Equ.*, **587**(2020), 2020:587, 14pp.
- [25] S. K. Sharma, A note on degenerate poly-Genocchi polynomials, *Int. J. Adv. Appl. Sci.*, **7**(5)(2020), 1-5.

DEPARTMENT OF MATHEMATICS AND NATURAL SCIENCES, PRINCE MOHAMMAD BIN FAHD UNIVERSITY, P.O Box 1664, AL KHOBAR 31952, SAUDI ARABIA
E-mail address: wkhan1@pmu.edu.sa

DEPARTMENT OF MATHEMATICS, INTEGRAL UNIVERSITY CAMPUS, SHAHJAHANPUR-242001, INDIA
E-mail address: ghayas.maths@gmail.com

DEPARTMENT OF MATHEMATICS AND STATISTICS, FACULTY OF SCIENCE, INTEGRAL UNIVERSITY, LUCKNOW-226026, INDIA
E-mail address: divesh2712@gmail.com